
No. of Printed Pages : 4 Roll No……………

ED-2004(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
Group–I : Compulsory

Paper Second

BUSINESS COMMUNICATION

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. O;kolkf;d laizs"k.k fdls dgrs gSa \ blds  izeq[k izdkjksa dk
o.kZu dhft,A
What is Business Communication ? Describe the

main forms of Business Communication.

vFkok 
OR

^LokWV* fo'ys"k.k ls D;k vk'k; gS \ blds egÙo ,oa lhekvksa
dks crkb;sA
What is meant by ‘SWOT’ analysis ? Describe its

importance and limitation.

bdkbZ–2

 Unit–2

2. vaxwjhyrk lEizs"k.k D;k gS \ bldh fo'ks"krk,¡ ,oa izdkj
crkb;sA
What is Grapevine Communication ? Describe its

characteristics and types.

vFkok 
OR

lEizs"k.k dh ck/kkvksa ls D;k vfHkizk; gS \ lEizs"k.k dh ck/kkvksa
dks nwj djus ds mik; crkb;sA
What do you mean by barries of communication?

Suggest measures to remove barries of communication.

bdkbZ–3

 Unit–3

3. ys[ku dq'kyrk ls D;k vk'k; gS\ ,d ys[ku dks fdl izdkj
izHkkoh cuk;k tk ldrk gS \
What is meant by writing skills ? Discuss how

writing can be made effective?

vFkok 
OR
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O;kolkf;d i=kksa ls D;k vk'k; gS \ i=k ys[ku esa n{krk izkIr
djus ds fy, ,d Js"B i=k ys[kd dks fdu fcUnqvksa ij /;ku
nsuk pkfg, \ Li"V dhft,A 

What do you mean by Business Letters ? What point

must be considered importantly to develop writing

skills of Business Letters ? Explain.

bdkbZ–4

 Unit–4

4. fjiksVZ ys[ku ls D;k vk'k; gS \ fjiksVZ rS;kj djus dh izfØ;k
D;k gS \ le>kb;sA

What do you mean by writing a Report ? What is the

process of writing a Report ? Explain.

vFkok 

OR

ekSf[kd izLrqrhdj.k ls D;k vfHkizk; gS \ ekSf[kd izLrqrhdj.k
dks izHkkfor djus okys dkjdksa dks crkb;sA

What is Oral Presentation ? Discuss the factors

affecting the  Oral Presentation.

bdkbZ–5

 Unit–5

5. vk/kqfud O;kolkf;d laizs"k.k esa fdu lk/kuksa dk mi;ksx fd;k
tk jgk gS \ buls gksus okys ykHkksa dks crkb;sA

What forms of Communication are being used in

the Modern Business world ? Explain their

advantages.

vFkok 
OR

'kkjhfjd Hkk"kk dk D;k vFkZ gS \ 'kkjhfjd Hkk"kk ds izdkjksa ,oa
egÙo dh O;k[;k dhft,A
What is meant by Body Language ? Explain the types 

and importance of Body Language.
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ED-2008(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
Group–III : Compulsory

Paper Second

BUSINESS ECONOMICS

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. mi;ksfxrk ls  vki D;k le>rs gSa \ D;k mi;ksfxrk  ekiuh;
gS \
“What do you understand by Utility”  can it be

measured ?

vFkok 
OR

le lhekUr mi;ksfxrk fu;e dh foospuk dhft;sA rFkk
O;kogkfjd thou esa blds egÙp dh iqf"V dhft;sA
Describe the law of Equi-Marginal Utility and

mention its practical importance.

bdkbZ–2

 Unit–2

2. ek¡x ls vkidk D;k vfHkizk; gS \ ek¡x dks izHkkfor djus okys
rRo crkb;sA
What do you mean by Demand ? State the elements

affecting Demand.

vFkok 
OR

ek¡x dh yksp D;k gS \ blds egÙo dh foospuk dhft;sA
What is Elasticity of Demand ? Describe its

importance.

bdkbZ–3

 Unit–3

3. mRiknu Qyu ls vki D;k le>rs gSa \ bldh fo'ks"krkvksa vkSj
izdkjksa dks crkb;sA
What do you understand by Production Function ?

Discuss its characteristics and types.

vFkok 
OR
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^^mRifÙk Ðkl fu;e rdZ laxr vfuxeZrk gSA** Li"V dhft;sA**
“The Law of Diminishing Return is a logical

necessity.” Explain.

bdkbZ–4

 Unit–4

4. ^^cktkj** dh ifjHkk"kk nhft;sA blds fofHkUu izdkjksa dk o.kZu
dhft;sA 
Define Market. Describe its various types.

vFkok 
OR

iw.kZ izfr;ksfxrk ls vki D;k le>rs gS \ blds vUrZxr ewY; dk 
fu/kkZj.k fdl izdkj gksrk gS \ le>kb;sA
What do you understand by Perfect Competition ?

How prices are determined under it. Explain.

bdkbZ–5

 Unit–5

5. forj.k ds lhekar mRikndrk fl)kUr dh vkykspukRed O;k[;k 
dhft;sA
Explain critically the marginal Productivity theory of 

Distribution.

vFkok 
OR

^^fjdkMksZa ds ykxr fl)kUr** ij fuca/k fyf[k;sA
Write an essay on “Recardian Theory of  Rent.”
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ED-2007(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
(Group–III : Compulsory)

Paper First

BUSINESS ENVIRONMENT

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. O;kolkf;d i;kZoj.k dk D;k vFkZ gS \ O;kolkf;d i;kZoj.k
dk v/;;u djuk D;ksa vko';d gS \
What is meant by Business Environment ? Why is it

necessary to study the Business Environment ?

vFkok 
OR

fofu;ksx ls D;k rkRi;Z gS \ Hkkjr esa fofu;ksx dh izÑfr
fyf[k;sA Hkkjr esa iw¡th fuekZ.k de gksus ds dkj.k rFkk mls c<+kus 
ds lq>ko nhft;sA
What is meant by Investment ? Write trends of

investment in India. Give the reasons for low capital

formation in India and also give suggestions to

accelerate it.

bdkbZ–2

 Unit–2

2. Hkkjr esa csjkstxkjh dh izÑfr ,oa dkj.kksa dh foospuk dhft,A 
Discuss the nature and causes of Unemployment

problem in India.

vFkok 
OR

Hkkjr esa dkys /ku dh leL;k ds lek/kku ds fy, ljdkjh
iz;klksa dh foospuk dhft,A bl leL;k dks lekIr djus ds
fy, lq>ko nhft,A 
Discuss the measures taken by the Government to

solve the problem of Black Money. Give suggestions

to eliminate this problem.

bdkbZ–3

 Unit–3

3. Hkkjr esa foeqnzhdj.k ds D;k mn~ns'; gSa \ foeqnzhdj.k ds fofHkUu 
izHkkoksa dk mYys[k dhft,A 
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What are the Objectives of demonetisation in India ?

Write the various effects of demonetisation.

vFkok 
OR

futhdj.k ls vki D;k le>rs gSa \ Hkkjr esa futhdj.k dks
izsfjr djus okys rRoksa dh O;k[;k dhft,A 
What do you mean by Privatisation ? Explain about

the factors affecting Privatisation in India.

bdkbZ–4

 Unit–4

4. Hkkjr esa vkfFkZd fu;kstu dh miyfC/k;ksa dk vkykspukRed
ewY;kdu dhft,A 
Critically evaluate the achievements of Indian

Economic Planning.

vFkok 
OR

fons'kh fofue; izcU/ku vf/kfu;e ¼Qsek 2000½ ds mn~ns';ksa 
,oa izeq[k izko/kkuksa dh O;k[;k dhft,A 
Discuss the main objectives and main provision of

Foreign Exchange Management Act 2000.

bdkbZ–5

 Unit–5

5. fodkl'khy jk"Vªksa dh vkfFkZd] lkekftd ,oa jktuSfrd ck/kkvksa 
dh foospuk dhft,A 

Explain the eocnomics, social and political obstacles

of developing countries.

vFkok 
OR

fo'o O;kikj laxBu ls vki D;k le>rs gSa \ bldk fuekZ.k
fdl mn~ns'; ls gqvk gS \ Hkkjr ds fy, bldh lnL;rk dks vki 
dSls mfpr Bgjk,¡xs \
What is meant by World Trade Organisation ? Why

was it established ? How will you justify its 

membership for India ?
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ED-2005(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
(Group–II : Compulsory)

Paper First

BUSINESS MATHEMATICS

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. ¼v½ fuEu ;qxir lehdj.k dks rqyukRed fof/k }kjk gy dhft,µ 7

3 4 22 0 4 3 13 0x y x y- + = - + =,

Solve the following simultaneous equations by

comparison method :

3 4 22 0 4 3 13 0x y x y- + = - + =,

¼c½ jktho lat; ls 34 o"kZ cM+k gSA nl o"kZ iwoZ mudh vk;q dk ;ksx 
48  FkkA mudh orZeku vk;q Kkr dhft,A 8

Rajeev is 34 years older than Sanjay, ten years ago

the total of  their age was 48. Find their present ages.

vFkok 
OR

vYikgkj ds nks izdkj ds iSdsV P rFkk Q gSaA ;g nkok fd;k
tkrk gS fd ,d O;fDr ds fy, de&ls&de izfrfnu 24 bdkbZ
dSfYl;e] 25 bdkbZ izksVhu rFkk 18 bdkbZ dkcksZgkbMªsV pkfg,A
iSdsV P esa 6 bdkbZ dSfYl;e] 5 bdkbZz izksVhu rFkk 3 bdkbZ
dkcksZgkbMªsV gS rFkk iSdsV Q esa 4 bdkbZ dSfYl;e] 5 bdkbZ
izksVhu rFkk 6 bdkbZ dkcksZgkbMªsV gSA iSdsV P dk ewY; 1  ̀  rFkk 
iSdsV Q dk ewY; 2 ` gSA
P rFkk Q iSdsVksa dk og vuqdwyre la;ksx Kkr djus ds fy,
ftlls miHkksDrk dks U;wure dSfYl;e] izksVhu rFkk dkcksZgkbMªsV 
iks"kd rRo miyC/k gks tk,¡] bl leL;k dks xf.krh; :i esa
fyf[k,A 
P and Q are two types of packets of breakfast. A

person requires 24 unit of Calcium, 25 unit of Protein

and 18 units of Carbohydrates daily. Packet P

contains 6 units of Calcium, 5 units of Protein and 3

units of Carbohydrate and Packet Q contains 4 unit of  

Calcium, 5 units of Protein and 6 units of

Carbohydrate. The Price of packet P is ̀  1 and that of

Q is ` 2.

ED-2005 [ 2 ]

[P.T.O.]



Formulate this problem as a L.P.P to obtain optimum

combination of P and Q so that the consumer gets the

minimum requirement of Calcium, Protein and

Carbohydrate.

bdkbZ–2

 Unit–2

2. ¼v½ ;fn A =

é

ë

ê
ê
ê

ù

û

ú
ú
ú

1 0 2

0 2 3

1 2 3

    rFkk  B =

é

ë

ê
ê
ê

ù

û

ú
ú
ú

3 1 1

1 2 3

0 1 2

 gks rks

3 6A B+  dk eku crkvksA 7

If  A =

é

ë

ê
ê
ê

ù

û

ú
ú
ú

1 0 2

0 2 3

1 2 3

   and   B =

é

ë

ê
ê
ê

ù

û

ú
ú
ú

3 1 1

1 2 3

0 1 2

Find 3 6A B+ .

¼c½ fuEufyf[kr lkjf.kd dk eku crkvksµ 8

1 1 1

1 2 8

1 3 27

Find the value of the determinant :

                                        

1 1 1

1 2 8

1 3 27

vFkok 
OR

y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft,µ 15

( . )

( . ) /

3678

42 77

4

1 3

Find out the value with the help of log tables : 

( . )

( . ) /

3678

42 77

4

1 3

bdkbZ–3

 Unit–3

3. ¼v½ dksbZ /ku lk/kkj.k C;kt ls nks o"kksZa esa  1200 ̀  rFkk 3 o"kksZa esa 
1300 ` gks tkrk gSA ewy/ku rFkk C;kt dh nj izfro"kZ
fudkfy,A 7

A certain sum at simple interest becomes  ̀  1200 in 2

years and  ` 1300 in 3 years. Find the principal and

rate of interest per annum.

¼c½ og le; Kkr dhft, ftlls lk/kkj.k C;kt ls  500 ̀  ij 6% 

okf"kZd dh nj ls mruk gh C;kt feys ftruk fd  540 ̀  ij 8
o"kZ esa 5% dh nj ls feyrk gSA 8

In what time will the simple interest on ` 500 at 6%

be equal to the interest on ̀  540 for 8 years at 5%. 

vFkok 
OR

1200 ` dk 8 izfr'kr okf"kZd pØo`f) C;kt dh nj ls 2 o"kZ
dk pØo`f) C;kt fudkysa ;fnµ

(1) O;kt dk vkx.ku v)Zokf"kZd gksrk gksA
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(2) C;kt dk vkx.ku ekfld gksrk gksA
Find the compound interest on ` 1200 @ 8%

annually for two years if :

(1) Interest is calculated half yearly.

(2) The interest is calculated monthly.

bdkbZ–4

 Unit–4

4. ¼v½ nks Hkkb;ksa dh okf"kZd vk; 8 : 5 ds vuqikr esa gS vkSj os 5 : 3 ds 
vuqikr esa O;; djrs gSaA ;fn mudh cpr ` 2400 rFkk
` 2000 okf"kZd gks rks mudh vk; crkb,A 7

Two brothers have their annual incomes in the ratio

of 8 : 5 and their spending in the ratio of 5 : 3. If they

save  ` 2400 and ` 2000 p.a. Find their incomes.

¼c½ 15 fdeh izfr ?k.Vk dh xfr ls nkSM+rk gqvk ,d O;fDr 10

feuV esa ,d iqy dks ikj dj ysrk gSA iqy dh yEckbZ crkvksA 8

A person running with a speed of 15 kph crosses a

bridge in 10 minutes. Find the length of the bridge.

vFkok 
OR

¼v½ fdlh O;fDr dk igys ik¡p eghuksa dk vkSlr ekfl; O;; `
120 vkSj vxys 4 eghuksa dk ` 80 gSA ;fn bu ukS eghuksa dh
vof/k ds nkSjku mlus ` 25 cpk;s gksa rks mldh ekfld vk;
Kkr dhft,A 7

The average monthly expenditure of a person for the

first five months is ̀  120 and for the next four months 

is ` 80. If he has saved ` 25 during the period of nine

month, find out his monthly income.

¼c½ fdlh d{kk esa fdlh fnu 15% yM+ds vuqifLFkr Fks rFkk 34

mifLFkr FksA d{kk esa yM+dksa dh la[;k crkvksA 8

On a ceertain day 15% of the boys were absent and 34 

were present. Find the number of boys enrolled in the

class.

bdkbZ–5

 Unit–5

5. ¼v½ ,d ,tsUV dks fdlh QeZ }kjk ` 700 ekfld osru rFkk fcØh
ij 5% deh'ku fn;s tkus vFkok fcØh ij dsoy 15% deh'ku 
fn;s tkus dk fodYi fn;k tkrk gSA ;fn ekfld fcØh vkSlru  
` 8400 gS rks og fdl 'krZ dks ilan djsxk \ 7

A firm offers salary of ` 700 plus a commission of

5% on sales or only commission at the rate of 15%. If

the average monthly sales amount to ̀  8400 which of

the terms would he prefer ?

¼c½ ,d csbZeku nqdkunkj ykxr ewY; ij cspus dh ckr djrs gq,
dsoy 950 xzke dk ,d >wBk fdyksxzke dk ckV iz;ksx esa ykrk
gSA mlds ykHk dk izfr'kr Kkr dhft,A 8

A dishonest shopkeeper professing to sell at cost

price uses a false kilogram weight of 950 gram  only.

Find his gain percentage.
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vFkok 
OR

fuEufyf[kr ifjogu leL;k dks U;wure ykxr fof/k ls gy
dhft,µ 15

Solve the following transportation problem by least

cost method :

dkj[kkuk cktkj (Market) iwfr

Plants M 1 M 2 M 3 M 4 (Supply)

P1 18 30 50 10 7

P 2 70 30 40 60 9

P 3 40 08 70 20 18

ek¡x 5 8 7 14 34

(Demand)

[ 7 ] ED-2005



No. of Printed Pages : 4 Roll No……………

ED-2006(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
(Group–II : Compulsory)

Paper Second

BUSINESS REGULATORY FRAMEWORK

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. vuqcU/k djus dh {kerk ls vki D;k le>rs gSa \ Hkkjr esa
vo;Ld }kjk fd;s x;s vuqcU/kksa ds lEcU/k esa jktfu;e dh
O;k[;k dhft,A
What do you understand by competency to contract ?

Describe  the law relating to minor in this connection.

vFkok 
OR

Hkkjrh; vuqcU/k vf/kfu;e }kjk Li"V :i ls O;FkZ ?kksf"kr
Bgjkoksa dh la{ksi esa O;k[;k dhft;sA
Briefly explain  the various Agreements that are

expressly declared void by the Indian Contract Act ? 

bdkbZ–2

 Unit–2

2. fu{ksi D;k gksrk gS \ fu{ksih rFkk fu{ksix̀ghrk ds dÙkZO;ksa dk
mYys[k dhft,A 
What is Bailment ? Describe the duties of Bailor and

Bailee.

vFkok 
OR

mi&,tsUV vkSj LFkkukiUu ,tsUV esa vUrj dhft,A fu;ksDrk o
rhljs i{kdkjksa ls mudk lEcU/k crkb,A
Distinguish between a Sub-Agent and a Substituted

Agent. Point out their relations with the principal and

the third party.

bdkbZ–3

 Unit–3

3. uhyke }kjk foØ; ls vki D;k le>rs gSa \ uhykeh foØ; ls
lEcfU/kr fu;eksa dh foospuk dhft,A 
What do you mean by Sale by Auction ? Discuss the

rules regarding auction sale.

ED-2006 [ 2 ]
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vFkok 
OR

fdjk;k&[kjhn Bgjko D;k gS \ fdjk;k  [kjhn Bgjko rFkk foØ; 
esa vUrj dhft,A 

What is hire-purchase agreement ? Distinguish

between hire-purchase agreement and sale.

bdkbZ–4

 Unit–4

4. i`"Bkadu dks ifjHkkf"kr dhft,A i`"Bkadu ds fofHkUu izdkjksa dks
le>kb, vkSj mnkgj.k nhft,A

Define ‘Endorsement’. Discuss the various types of

Endorsement and give illustrations. 

vFkok 

OR

vuknj.k D;k gS \ vuknj.k dh lwpuk fdlds }kjk rFkk
fdldks nh tkuh pkfg, \ 

What is Dishonour ? Who should give notice of

dishonour and whom should it be given ?

bdkbZ–5

 Unit–5

5. miHkksDrk laj{k.k vf/kfu;e] 1986 ds vUrxZr xfBr ftyk eap 
ds xBu] dk;Z {ks=k] f'kdk;r fuiVkus dh izfØ;k vkSj 'kfDr;ksa
dks Li"V :i ls le>kb,A 

Explain clearly the formation jurisdiction and

procedure of disposal of the complaint of District

Forum.

vFkok 
OR

D;k lk>snkjh vf/kfu;e ds vuqlkj lk>snkjh QeZ dk jftLVªs'ku 
t:jh gS\ jftLVªh u djkus ds ifj.kke crkb,A
Is the Registration of firm compulsory under the

Partnership Act ? State the effect of non-registration.
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No. of Printed Pages : 6 Roll No……………

ED-2002(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
FOUDATION COURSE

Paper II

English Language
Time : Three hours

Maximum Marks : 75

Note : Attempt all questions. 

 Unit–1

1. (A) Do as di rected : 20+15

(1) ……… book on that shelf is ……… interesting one

about History. (Use Article)

(2) There is …… fly in ……… lemonade. (Use Article)

(3) The rarely ……… a pen, but he ……… one now.

(Fill correct form of verb {use, use})

(4) He ……… in this town since 1964. 

(Correct form of verb ‘live’)

(5) By the time the ambulance ……… the patient

……… . (Fill correct form of verb {arrive, die})

(6) If you learn English you ……… a better job. 

(Fill correct form of verb 'get’)

(7) Will you have ……… more tea ? (Any or some)

(8) Put ……… salt in it, the cook hasn’t put ………. 

(Some or Any)

(9) Its ……… cold, we cannot go out. (Fill Too or Very)

(10) you are quiet old now; you ought to understand

better. (Rewrite using Too or Enough)

(11) ……… you don’t have T.V. at home you must watch

this programe.  (Fill Unless / Even if)

(12) I set samosas only if they are home–made, never

……… . (Fill  If/ Otherwise_)

(13) They ……… gladly accept the offer. (willngness)

(14) “You ……… not go until you tell me the truth” said

the police officer. (threat)

(15) Visitors to the steel plant ……… cross the railing put

round the furnace. (Prohibition)

(16) My wife said, “I’ll answer the phone for you ”. 

(Change the sentence into Indirect Speech) 

(17) “What a grand building!” said Raina. 

(Change into Direct Speech)

ED-2002 [  2  ] [ 2 ]
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(18) Can you speak “English” ? (Change the voice)

(19) Monalisa was painted by Leonardo. 

(Change the Voice)

(20) Sitting ……… the floor is not very confortable.

(Fill correct Preposition) 

(21) Alcohol is injurious ……… health.  (Fill to/at)

(22) She wrote the letter and enclosed an envelope

addressed to  ………. . 

(Fill correct Relexive Pronoun or self form)

(23) Their friends soon went away and they were left to 

…… . (Fill correct Reflexive pronoun or self form)

(24) Combine the sentence :

(a) Kanchipuram is known for its frescoes.

(b) It is known for its silk sarees.

(25) Open the window. (Change the Voice)

(B) Match the words given in Column A with their

meaning in Column B : 5

(A) (B)

(1) Fatigued Introducing something new

(2) Innovation Without rest

(3) Hectic Tired

(4) Hecatomb Bright

(5) Radiant Great Public sacrifice.

(C) Write the Antonyms of the following words : (any 5) 5

Beauty, Vanish, Rapid, Human, Poverty, Trifle

(D) Write the Antonyms of the following words : (any 5)

Ancient, Custom, Isolation, Divorce, Emphasis. 5

 Unit–2

2. Read the following passage and answer the questions

given below : 5

Necessity is a very good teacher. It has always taught

man to find out new ways and means. It has enabled

him to make new inventions. Many examples can be

given to prove this thing. The early man had no

clothes to wear. He had no house to live in. He had no

fire to cook his food. He wanted to protect himself

from the sun,. cold and rain, so He began to cover his

body with skins of animals. He began to live in caves. 

He discovered fire to cook his food. This necessity

taught him to make one invention to the other. Today

He lives in comfortable houses. He makes beautiful

clothes. He had quick means of transport and

communication.

Questions :

(1) What has necessity taught man ?

(2) How did the early man cover his body ?

(3) Where does he live today ?
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(4) What type of mean of transport and communication

has man today ?

(5) Give a suitable title to the above passage.

 Unit–3

3. Write a para graph on any one of the fol low ing : 10

(a) Indian Art.

(b) Ramayana and Mahabharata.

(c) Fundamental duties and rights.

 Unit–4

4. (A) Write a let ter to your friend in vit ing him/her for

spend ing hol i days at your home. 5

OR

Write a letter to your father informing him about your 

accident.

(B) Write a letter to the registrar for early declaration of

results. 5

OR

Write a letter to the editor of a newspaper telling him

about the problem of noise pollution in your city.

 Unit–5

5. Answer any five of the fol low ing ques tions :

(1) What is meant by the expression ‘Knowledge is

free”?

(2) Define Regionalism.

(3) How many duties are enumerated in the Indian

constitution ?

(4) Which two major festivals were popularized by

Lokmanya Tilak ?

(5) Mention five Vedangas.

(6) What is the significance of Trimurti in Elephanta ?

(7) What  did the Katha Upanishada speak about the

body of man ?
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ED-2011(S)

B.Com. (Part–I, II & III) 

Suppl. EXAMINATION, 2021
ENVIRONMENTAL STUDIES AND 

HUMAN RIGHTS

Time : Three hours

Maximum Marks : 75

UkksV& lHkh iz'u vfuok;Z gSaA iz'u Øekad 1 ij 25 vad 'ks"k izR;sd 
ij  10 vad gSaA
All questions are  compulsory. Question No. 1

carries 25 marks and rest of the questions carry  10

marks.

1. fuEufyf[kr esa ls fdUgha ik¡p ij laf{kIr fVIif.k;k¡ fyf[k,µ
(1) ou fouk'kA
(2) uohdj.kh; ÅtkZ lalk/ku ds mnkgj.kA
(3) eǹk vijnuA
(4) [kk| Ükà[kykA
(5) iznw"k.k fu;a=k.k esa lkekU; O;fDr dh HkwfedkA
(6) vkstksu {kj.kA

(7) tSo fofo/krk ds [krjsA
(8) ekuo vf/kdkj dk oxhZdj.kA
Write short notes on any five of the following :

(1) De for es ta tion.

(2) Ex am ples of Re new able En ergy.

(3) Soil Ero sion.

(4) Food Chain.

(5) Role of an in di vid ual in pre ven tion of pollution.

(6) Ozon Depletion 

(7) Threats of Biodiversity.

(8) Clas si fi ca tion of Hu man Rights.

bdkbZ–1

 Unit–1

2. ouksa dk mi;ksx ,oa vfrnksgu dk foLr`r o.kZu dhft,A 
Write a detail account on the use and over

Exploitation of forests.

vFkok 
OR

ÅtkZ lalk/ku D;k gS \ ̂ ^oSdfYid ÅtkZ òksrksa dk mi;ksx** ij
izdk'k Mkfy,A 
What are Energy Resources ? Write a detail account

on use of Alternate Energy Sources ?

bdkbZ–2

 Unit–2

3. tyh; ikfjfLFkfrd rU=k dk foLr`r o.kZu dhft,A 
Give a detail account of Aquatic  Ecosystem.
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vFkok 
OR

Hkkjr esa tSo fofo/krk ds rIr LFky D;k gSa\ bldk foLr`r o.kZu 
dhft,A 
What are the Hot Spots of Biodiversity in India ?

Give a detail account on it.

bdkbZ–3

 Unit–3

4. leqnzh iznw"k.k dk izHkko ,oa blds fu;U=k.k ds mik; ij izdk'k
Mkfy,A 
Write the effective and control measures of Marine

Pollution.

 vFkok 
OR

ty laj{k.k ij ,d ys[k fyf[k,A 
Write an essay on Water Conservation.

bdkbZ–4

 Unit–4

5. ekuokf/kdkj dks le>kb;s ,oa mldk oxhZdj.k fyf[k,A 
What are Human Rights ? Give the detail account on

classification of Human Rights.

vFkok 
OR

^ekuo vf/kdkj ds laj{k.k* ij izdk'k Mkyrs gq;s bldks foLr`r
:i ls fyf[k;sA

Write an account on the “Protection of Human

Rights”.

bdkbZ–5

 Unit–5

6. jkT; ds uhfr funs'kd fl)kUrksa dk o.kZu dhft,A 
Write a detail account on the Directive Principles of

State Policy.

vFkok 
OR

ekSfyd dÙkZO;ksa dk o.kZu foLr`r :i ls dhft,A 
Describe in detail the fundamental duties.
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No. of Printed Pages : 10 Roll No……………

ED-2003(S)

 B.Com (Part-I)

Suppl. EXAMINATION, 2021 
Compulsory

(Group–I)

Paper First

(Financial Accounting)

Time : Three hours

Maximum Marks : 75

funsZ'k&lHkh iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad leku gSaA
Attempt all the questions. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. f}&izfof"V iz.kkyh ls vki D;k le>rs gSa\ blls lacaf/kr fu;eksa 
dks le>kb,A
What do you understand by “Double Entry System” ? 

Explain the rules.

vFkok
OR

,d O;kikjh ds vizSy 2021 ds fuEufyf[kr O;ogkjksa dks tuZy
¼iath‚½ esa fyf[k, rFkk [kkrkcgh esa [krkSuh dhft,µ

frfFk O;ogkj jkf'k (`)

vizSy 1 udn jkf'k ls O;kikj izkjEHk fd;k 45200

" 4 udn QuhZpj [kjhnk 1400

" 7 udn eky [kjhnk 9635

" 10 udn eky cspk 7856

" 14 fd'kksj ls eky [kjhnk 2587

" 15 jkf'kn dks eky cspk 4123

" 17 cSad esa jkf'k tek dh 12000

" 20 /kukns'k }kjk futh iz;ksx ds fy, fudkyk 400

" 22 jkf'kn ls js[kkafdr /kukns'k izkIr 4100

mls cV~Vk fn;k 23

" 27 fd'kksj dks iw.kZ Hkqxrku fd;k 2570

" 28 cSad ls fudkys 4000

" 30 udn etnwjh nh 282

Record the following transactions of April 2021 in

the Journal and Ledger of a Trader :

Date Transactions Amount
(`)

April 1 Business started with cash 45200

" 4 Bought furniture for cash 1400

" 7 Purchased goods for cash 9635

ED-2003 [ 2 ]
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" 10 Sold goods for cash 7856

" 14 Purchased goods from Kishor 2587

" 15 Sold goods to Rashid 4123

" 17 Deposited into Bank 12000

" 20 Withdrew by cheque for personal use 400

" 22 Received a cross cheque from
Rashid 

4100

Allowed him discount 23

" 27 Gave to Kishore in full settlement of
him claims

2570

" 28 Drew from Bank 4000

" 30 Wages in cash 282

bdkbZ–2

 Unit–2

2. fuEu n'kkvksa esa lq/kkj djrs le; vki D;k lko/kkuh cjrsaxsµ
(1) tc =kqfV;ksa dk irk ryiV cukus ls iwoZ ekywe gks tk,A
(2) tc =kqfV;ksa dk irk ryiV cukus ds ckn o mpUr [kkrk [kksyus

ds i'pkr~ ekywe gks tk,A
(3) tc vfUre [kkrs cukus ds i'pkr~ =kqfV;ksa dk irk yxsA

What precautions will you take at the time of

rectification in the following cases :

(1) When errors are detected before agreement of Trial

Balance.

(2) When errors detected after agreement of Trial

Balance and Suspense Account has been opened.

(3) When errors are located after preparation of final

accounts.

vFkok 
OR  

31 ekpZ 2021 dks lekIr gksus okys o"kZ dh ijh{kk lwph
¼ryiV½ uhps nh x;h gSA 31 ekpZ 2021 dks lekIr gksus okys
o"kZ ds fy, O;kikj ,oa ykHk ;k gkfu [kkrk vkSj 31 ekpZ 2021

dh frfFk dk fLFkfr fooj.k rS;kj djsaµ
Dr. Cr.

fooj.k jkf'k fooj.k jkf'k
LdU/k 1 vizSy 2020 16000 cSad _.k 4400

Hkou 24000 fofo/k ysunkj 11600

fofo/k nsunkj 17000 iw¡th 32000

e'khujh 10000 foØ; 130000

vkgj.k 4000 dVkSrh ;k cV~Vk 400

Ø; 90000 Ø; okilh 800

chek o dj 1500 deh'ku 750

O;kikfjd O;; 3600 v'kks/; _.kkFkZ izko/kku 400

fcØh okilh 600 ns; foi=k 2000

osru 8200

Ø; ij HkkM+k 1250

v'kks/; _.k 300

izkI; foi=k 4500

gLrLFk jksdM+ 1400

182350 182350

lek;kstuµ
(1) 31 ekpZ 2021 dks vfUre LdU/k 12,000A
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(2) iwath ij 5% okf"kZd C;kt yxkuk FkkA
(3) osru ds ` 800 nsuk ckdh FkkA
(4) iwoZnÙk chek ` 150A
(5) Hkou ij 2% vkSj e'khujh ij 10% Ðkl dkVk tkuk gSA
(6) nsunkjksa ij 5% v'kks/; ,oa lafnX/k _.kksa ds fy, izko/kku

djuk gSA
(7) deh'ku ds ` 200 vizkIr gSaA

Below is given the Trial Balance for the year ended
on 31st March 2021. Prepare Trading and Profit &
Loss Account for the year ended and the balance
sheet as on 31st March 2021.

Dr. Cr.

Particulars Amount Particulars Amount

Stock on 1 April 2020 16000 Bank Loan 4400

Building 24000 Sundry creditors 11600

Sundry debtors 17000 Capital 32000

Machinery 10000 Sales 130000

Drawings 4000 Discount 400

Purchases 90000 Purchases returns 800

Insurance & Taxes 1500 Commission 750

Trade Expenses 3600 Provision for bad debts 400

Sales Returns 600 Bills payable 2000

Salaries 8200

Freight on purchases 1250

Bad debts 300

Bills receivable 4500

Cash in hand 1400

182350 182350

Adjustments :

(1) Closing stock ` 12000.

(2) Interest on capital to be paid @ 5% p.a.

(3) Outstanding salaries ` 800.

(4) Prepaid insurance ` 150.

(5) Depreciation 2% on buildings, 10% on machinery.

(6) Make a provision of 5% for bad and doubtful debts.

(7) Commission earned but not received ` 200.

bdkbZ–3

 Unit–3

3. Ðkl D;k gS\ Ðkl dh O;oLFkk djus dh fofHkUu i)fr;ksa dk
lw{e esa o.kZu dhft, rFkk izR;sd fof/k fdl izdkj dh lEifÙk
ds fy, mi;qDr gS\
What is depreciation ? Describe the different

methods of providing for depreciation in brief and

mention the assets to which each such method is

suitable.

vFkok
OR

,d dEiuh fy‚ ds e'khujh [kkrs essa 1 tuojh 2007 dks
` 40500 dk 'ks"k FkkA Ðkl 10% okf"kZd dh nj ls ?kVrh Ðkl
fof/k }kjk yxk;k tkrk gSA 1 tqykbZ 2007 dks dEiuh us ,d
e'khu ` 8750 esa csp nh tks csdkj gks xbZ Fkh ftls 1 tuojh
2005 dks ̀  12500 esa Ø; fd;k x;k FkkA mlh fnu dEiuh us 
` 25000 dh ,d ubZ e'khu Ø; dhA fnlEcj 2007 dks
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dEiuh ds Mk;jsDVj us 1 tuojh 2005 ls ?kVrh fdLr i)fr
ds LFkku ij LFkk;h fdLr i)fr viukus dk fu.kZ; fy;kA
iqLrdksa esa o"kZ 2007 dk e'khujh [kkrk [kksfy,A
A Co. Ltd. has a balance of ` 40500 on 1st Jan u ary

2007 in its ma chin ery ac count. 10% p.a. de pre ci a tion

was charged by di min ish ing bal ance method. On 1st

July 2007 the com pany sold of a ma chine as it was

use less for ̀  8750 which was pur chased on 1 Jan u ary

2005 for Rs. 12500. On the same date the com pany

pur chased a new ma chine for ` 25000.

On 31 Dec. 2007 the directors of the company

decided to adopt the fixed method of depreciation

instead of diminishing balance method from 1st

January 2005. Open machinery account in the books

of company for 2007.

bdkbZ–4

 Unit–4

4. tc eky fdLr Hkqxrku i)fr ij cspk tkrk gS rc Øsrk vkSj
foØsrk dh iqLrdksa esa ys[kkadu ds D;k ys[ks fd, tkrs gSa\
When goods are sold on Instalment System. What

accounting record is made in the books of Buyer and

the seller ?

vFkok
OR

,d VªkUliksVZ da‚ us fdjk;k Ø; i)fr ij 1 tuojh 2015 dks 
M vkVkseksckbYl ls ,d Vªd [kjhnkA Vªd dh udn dher
` 320000 Fkh ftldk Hkqxrku fuEu izdkj ls djuk Fkkµ

    `

1-1-2015 100000

31-12-2015 80000

31-12-2016 80000

31-12-2017 82478

M vkWVkseksckbYl 5%] okf"kZd nj ls vo'ks"k jde ij C;kt
ysrk gSA Øsrk dEiuh us 20% ykxr ij izfro"kZ Ðkl vifyf[kr 
djuk r; fd;kA rhu o"kksZa ds fy, VªkUliksVZ dEiuh ds
vko';d ystj [kkrs rS;kj dhft,A C;kt Ðkl rFkk fdLr dh
jkf'k dh x.kuk Hkh fn[kykb,A
A transport Co. purchased truck from ‘M’

Automobiles on 1 Jan. 2015 on hirepurchase system.

The cash price of the truck was ` 320000 which was

payable as under :

    `

1-1-2015 100000

31-12-2015 80000

31-12-2016 80000

31-12-2017 82478

‘M’ Automobiles charged interest @ 5% per annum

on the unpaid amount. The purchasing Co. decided to 

write off depreciation @ 20% of the cost price each

year. You are required to give the necessary ledger
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account in the books of the transport Co. for three

years. Also show the calculation of interest

depreciation and the installment.

bdkbZ–5

 Unit–5

5. ‘A’ vkSj ‘B’ us 31 fnlEcj 2008 dks vius O;olk; ds
lekiu dk fu.kZ; fd;k] ftl fnu mudk fpV~Bk fuEu Fkkµ

nkf;Ro jkf'k lEifÙk;k¡ jkf'k

ysunkj 12000 jksdM+ 2000

‘A’ dk _.k [kkrk 16000 nsunkj 10000

iw¡th % LVkWd 40000

 A 40000 Iyk.V 28000

 B 20000 60000 [;kfr 8000

88000 88000

lk>snkj viuh iw¡th ds vuqikr esa ykHk o gkfu foHkkftr djrs
gSaA fofo/k nsunkjksa ls ` 8400 olwy gq,] LVkWd ls ` 36000

IykUV ls muds iqLr ewY; ls 20% de vkSj [;kfr ls
` 12000 izkIr gq,A ysunkjksa dks 5% dVkSrh ij Hkqxrku fd;k
x;k vkSj lekiu dh ykxr ` 1200 gqbZA vko';d izfof"V;k¡
dhft, vkSj olwyh [kkrk o jksdM+ dk Hkqxrku fn[kkrs gq, vU;
[kkrs Hkh cukb,A
A and B agreed to dissolve their business of

partnership on 31st Dec. 2008 on which date their

Balance Sheet was as follows :

Liabilities Amt. Assets Amt.

Creditors 12000 Cash 2000

A’s Loan A/c 16000 Debtors 10000

Capital : Stock 40000

 A 40000 Plant 28000

 B 20000 60000 Goodwill 8000

88000 88000

The partners share profits and losses in the ratio of

their capital. The sundry debtors realised ` 8400,

stock ` 36000, plant 20% less than the book value

and the Good will ` 1200. The cred i tors were paid off

at a dis count of 5% and the cost of dissolution

accounted to ` 1200. Pass the nec es sary jour nal

en tries and open the dis so lu tion ac count and other

ac counts show ing the fi nal dis posal of cash balance.

vFkok
OR

lk>snkjh ds lekiu dk D;k vk'k; gS\ bl laca/k esa QeZ dh
iqLrdksa esa dkSu&ls ys[kkadu ys[ks fd, tkrs gSa\
What is meant by partnership dissolution ? What

accounting record is made on dissolution of

partnership ?
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No. of Printed Pages : 2 Roll No……………

ED-2001(S)

B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
(FUNCTIONAL COURSE)

Paper First

(HINDI LANGUAGE)

Time : Three hours

Maximum Marks : 75

UkksV& lHkh iz'u vfuok;Z gaSA iz'uksa ds vad muds lkeus fy[ks gSaA

1. ¼v½ iYyou dh ifjHkk"kk nsrs gq, ,d mnkgj.k nhft, rFkk vPNs
iYyoudÙkkZ ds pkj xq.k crkb,A

vFkok 

,d Js"B vuqoknd ds pkj xq.k crkb,A 

¼vk½ rduhdh 'kCn fdls dgrs gSa \ fgUnh ds pkj rduhdh 'kCn
crkb,A

vFkok 

^bZnxkg* dgkuh esa gkfen dk pfj=k fp=k.k dhft,A 

2. ¼v½ ^Hkkjr oanuk* dfork dh laf{kIr O;k[;k dhft,A 

vFkok 

fuEufyf[kr 'kCnksa dks 'kq) dhft,µ

(1) vk'khZokn (2) Jhefr    (3) ifRu (4) vusdksa
¼vk½ fdUgha pkj ds i;kZ;okph 'kCn crkb,µ

(1) gok (2) lk¡i (3) vfXu

(4) vkdk'k (6) vk¡[k (6) bZ'ojA
vFkok 

foykse vkSj vusdkFkhZ 'kCn fdls dgrs gSa \ nksuksa ds pkj&pkj
mnkgj.k nhft,A

3. ¼v½ nsoukxjh fyfi ds mn~Hko ,oa fodkl ij laf{kIr ys[k fyf[k,A 
¼vk½ la{ksi.k fdls dgrs gSa \ iYyou vkSj la{ksi.k esa varj crkb,A 

4. fgUnh ds fodjkl esa dEI;wVj dh D;k Hkwfedk gS \ mnkgj.kksa ds
lkFk crkb,A 

vFkok 
Lokeh foosdkuUn ds f'kdkxks&i=k dh fo'ks"krk,¡ crkb,A

vFkok 
dEI;wVj dk ifjp; rFkk mi;ksfxrk crkb,A

5. ¼v½ ekud fgUnh ds Lo:i ,oa mldh fo'ks"krk,¡ crkb,A
vFkok 

ekud] miekud rFkk vekud dh ifjHkk"kk fyf[k,A 
¼vk½ e/;dky esa lkekftd xfr'khyrk dh fLFkfr vkSj Hkwfedk

crkb,A

vFkok 

vk/kqfud dky esa lkekftd xfr'khyrk dh D;k mi;ksfxrk gS \
laf{kIr ys[k fyf[k,A 
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